Algebra and Trigonometry — Joysheet 2
MAT 150, Fall 2013 — D. Ivansic¢

Solve the equations.
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Simplify, showing intermediate steps.
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9. (8pts) Simplify. Express answers first in terms of positive exponents, then convert to
root notation. $ 2 2 & = A
= = T o~ J i i
et wmd 0t el om0 B )
(ET,rfr‘f)s AT ‘r; T . G 2+ {-I - 3
; ; %z st j_?r‘—___-'_}——._j_,_?__‘: -—;:'-f
i - | %+ Loy 5 . In -
(et d)” 367X Tt Ny B, P
¢ = i
L6+ 2) 5 ) 31 3 A
; = = s | [
2 B e 3 2PxTe B 9K WY
= Fl".:l_ ‘;‘: :{/;‘ il ,__._—:——1— =3 _,—/ﬂl —a
FAn L L
10. (5pts) Simplify. e —L
e ff"*__"T*;_— WISy =153
WISE3VIEVIE=—5v3) = '2JIF Feyovin — wNEs
— — |r__:_ | &5
SRl Gy VAT 1
o= | 54 :1? = e |'_--_':_ 2V S
75
11. (Gpts) Rationalize the denominator. . = -
.-1 = | - — " Lo — - = g — ‘ S
53+ 24/2 ;'u-'--"r};}ﬂ _J_ih-‘f'—“r'(@*i.ul?_“r4-.-*':' [9y€ +30 «12
—_— = e e e e L e T
3vZ—2v3 We42(3 A7) —(26G) |7~ 12
491 19Je
- —




